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s=nth, TN Wy ozwns: /Acids,

Bases and Salts

SREIVLL N LREITLY

Metals and Non metals

Soem’ WFY ©BT Boodkwzngy Carbon and

its Compunds

Toane e=SeReod maeeste/ Periodic

Classification of Elements

zexmgodngy/ Life Process

Rodoge W mmweng / Control and Co

ordination

BN Ber ToSenweldg IvdazN,/ How Do

Organisms Reproduce.

OEBodeonTd WD xexm dzex/ Heredity and

Evolution.

Suss, BoToR W Seegwa/ Light,

Reflection and Refraction.

amyege/ Electricity

LAWSS BRBRE Te03eod BOWRRNEY/

Magnetic effects of Electric current

Bgod w3vngy/ The Sources of Energy

@& womg/ Our Environment

FBOCT TOWTRVNE ToGT TR/

Sustainable Management of Natural
Resources.
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eﬂmzsoi)—z
BTNR), BTN DR VTN

Acids,bases and Salts
1. 2,08 TS Boxy) Oe3,TF° eﬁdg( ed 68, WBIAITT, BT PH afaoa@ A

solution turns red litmus into blue. its PH is likely to be *
A T
B. 4
C.5
D. 10

2. 2,03 T3 PB 78T Seed 0d pTHNWe 0l S DBDNE o3
DHT 39 TR, VPNWDIT. T93ed VB, w¥reolda. A solution reacts

with crushed egg-shells to give a gas that turns lime-water milky.The

solution contains *
A. NaCl
B. HCI
C. LiCl
D. KCI

3. 85 BYNIYNYO ooz @500 BRFNYY wieesrdad 83311 WHFIUHST

?Which one of the following types of medicines is used for treating
indigestion *
A. Bex3d3deerdsd Antibiotic

B. Seexd)dzme33 Analgesic
C. &) 23 Antacid
D. So2y Awe0a Antiseptic

4. P,Q,R,S oo Jee, moens PH di‘ae)émb e 7.8,1.0,13.0 = 1.4
NG, B TTeNPO @3503 D), &0, 0 TS DR TS
o369 Four solutions having pH value 7.8, 1.0, 13.0 and 1.4

respectively.among these which solution has more hydrogen ion

concentration. *
A P

B. Q
C.R
D. S
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5. 200 FUSTIT SeITY B0 FTPBOMD BRI JJMW WdwITOY . &8
2033 d)sgdg( =0e3dwen, 33 PH dfaoé "5 203 B3oR0DD. B8 d)sgdg(
0,000 HLBLRENTVTWT To0hS SowT In an fertile garden few kinds

of flowering plants are not grown.Then the soil of that garden tested ,it
shows PH value '5' .To cultivate this soil by using the chemical is *
A. JeeBabo Bed,w Sodium chloride

B. 59,0 abo ;w98 ;3 Calcium hydroxide
C. adwedadre Urea
D. @3 < ees® Copper sulphate

6..305° Jex’, M oo eeN generally tooth pastes are *
A. esead Acidic

3&35@ Neutral

B.
C. Zzychead Basic
D.

ev3oha3d8¢ Amphoteric

78OS oo IO 59,8 abo eI eer® & rhea The property of calcium

phosphate present in teeth enamel is *
A. esvead Acidic

B. @33chead Basic
C. 3&3?\’5 Neutral
D. evdadbasds Amphoteric

8.QNYY e c‘.’)d)zsa‘ eﬁdg( ®00dhew VBDI3T Which among the following

conduct electricity *
A. éez;jéef esedp,emoe® Ethyl alcohol

B. &% ded Rain water
C. 8303 e distilled
D. s&sgo° Ether

9.3 NYY Jpw 8 ol ? Which among the following is strong acid is *
A. 3e335° esa) Acetic acid
B. 5&1@%825‘ esa) Sulphuric acid
C. ?¢3z° e Citric acid
D

. £39E3950F° esa)m Tartaric acid
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10.359333 28330 evaE & adverda escd) The gas produced in the stomach of

human beings is *
A. m@_&éaae &2 Sulphuric acid

B. &,¢33° s Nitric acid
C. ®;d0,edpe08° e3a3) Hydro chloric acid
D. ©3e3z° sy Acetic acid

11. 9L J,[8NeS Qeeds adyekycdd ? which one of the following is a natural

indicator *
A. egd e eseoes® Methyl orrange

deexdex® Phenolpthlein

B.
C. 03¢ Turmeric
D.

RO 2w Methylene blue

12.s2=bv’ad PH &52e) pH value of acid rain is *

A. 8.5
B. 7.8

C. 5.6 3,03 38D less than 5.6
D. 9.1 ‘9%03 525% more than 9.1

13. PH &5°0@ e¥3ab =9 The pH value range is *
A. 1803 7 333
B. 7 801 14 3333
C. 0 Avod 14 33T
D. 14 do@ 28 333

14. 203 NBX wed) S BpBwnPODS 8 drek)xd ? Name the acid present in

the stinging hair of nettle leaves *
A. 3,3z esa Nitric acid

B. &3z e Citric acid
C. D33eedhzd® 8 Methonoic acid
D. ®,;d0,e80e08° &8 Hydro chloric acid

15. NaOH + HCl — NaCl + H20 @ adeas 0drt evmesmdesayeNd. This

equation is an example for *
A. 3e33e506 3,08 Neutralization reaction

B. A3 §adh decomposition reaction

SSLC - 2gem zgBwee 2020-21




C. Jodou3 &odh Addition reaction

D. Soadeent 308 Combination reaction

16. 2000 33 LB PH 3°¢) 239,303 As the pH value of a neutral

solution increases *
. BBy cead vZen sBDHIT D) OH- vodyebrY Josl; Bedh S
basic property decreases and number of OH - ions increases
. 8od OFe TYHBT D) H+ odyerid Sosd, 3B aberd3d acidic

property increases and number of H + ions decreases

. BBycead 0N BWYMHST D) OH- vodyeorbnY Josd; T3 basic
property increases and number of OH - ions increases

. Beod O sBDAIHIT DI H+ vy ol @33 acidic

property decreases and number of H + ions increases.
17. 652N , BTN eI 80NTR 81 odDRYRY tv3 8 ST,

When acids and bases dissolved in water ,these ions are formed *
A. Na+ D3 Cl-eadyesbriwy Na+ and Cl-ions

B. Mg+2 @@ S04-2 &90droxbnsh Mg+2 and SO04-2
C. H+ 2@ H30+eadyoxbnwb H+ and H30+ ions
D. abexdde @& None of the above

18. 8 de3d 383D Jeedk D) LLODTY LVOLVTTIRBT. HZ0TT, VD T3

S This insect sting causes pain and irritation,because it secrets *

. 859 Oz° ez Oxalic acid
. 3z esx) Citric acid
. ®308R,e8e05° ) Hydro chloric acid

. Doz 8 Formic acid

19. @RPRL) AreHd e Jedd3e) One of the following is not an olfactory

indicator *
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A. ey venilla
B. ez30on Clove
C. &g, Onion

D. ef)aséa‘ Litmus

20.2nY0 areycdh ecbeod res @eod. Which one of the following is acidic

in nature *
A. Qo3 33 Lime Juice

B. @933 33 Human Blood
C. Kbegd 3 ded Lime water
D. esdommms Antacid

SSLC - 2gem zgBwee 2020-21




eﬂmﬁod)%

FREBNY D) eiReDNW

Metals and Non metals
1.333ex3 dees The Liquid state metal is *

A. B33 Mercury
B. 83 Zinc

C. Jnedabo Sodium
D.

dR,ecx® Bromine

2.0 el 23 33633 edeexd The metal which is not react with hot water
is *

. Nedado Magnesium

. QeeBobo Sodium

. 53 abo Calcium

. eawaasci’b&’)obo Aluminium

3. dReENY BINY B3 S3FITan DEDRTAMDST B

A. H2

B. CO2
C. SO02
D. NO2

4. dpexdd) 3,635 ST B3 FATIFATIN B30R,LDTF BV
ABDNB A rHPHDL. H30TT

A. 3,638 8 womd Srw wud @3 Nitric acid is strong oxidizing agent
. BBV ORY BUB,AFQ LT, VS 8 ByedSB3. It oxidises hydrogen

and form water
- Sy’ 83,0 8N uzsaes oeod33. It reduces into nitrogen

oxide
. eI ovFpe All the above
5. Al,Na,K,Ca,Mg 8 tdeean¥s) dodredevdod JIoedod ©03ab ZHade wIadwnes
J0abed 3 The correct sequential order of the metals of their increasing

reactivity series is *
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A. Alk Mg<Ca<Na<K
B. K< Na<Ca<Mgc<Al
C. K<Mg<Ca<Na<AlI
D. AlI<Na<Mg<_Ca

6. ReBabodod BRed* 1T atfEy, o TMeERE ArerHPBO0T BLOEFTDT 03

. 9093 203 lonic bond

. B3dReRI w05 Hydrogen bond
) ﬁsdeeﬁ&%ecﬁ) 2og covalent bond
. @ydead wog polar bond

7. dme&rﬁ@aig( 2E3 m#ﬁ%’m@(ﬁ DB, 3D B4 ri)saddg(

The property of the metal which can be drawn into thin sheets is called *
A. 833 ductility

B. ®e3,3 malleability
C. drexneldde metallurgy

D. magé sonorous

8. @RYNLY eI PDE eséwéa‘ aveycd ? An amphoteric oxide is *

A. Al203
B. Fe203
C. CuO
D. MgO

9. B, THTRY, 83,5 ¥JYN DOB3eDS @b

A. 33 calcination

B. ®0aind3 Roasting

C. améqaaa" Electrolysis
D. 2Qes3e Refining

10. Fe203 + 2Al — 2Fe + Al203 55 5&3&868@6@(5)5 IBBREEIS0 In this

equation reducing agent is *
A. Al203
B. Fe203
C. Al
D. Fe
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11. TR MePADODLT SeTFpOB QoMILT B 83 ;T I 3 S3eATN
LVOEIINAB BAD B33 When copper is react with atmospheric moistered

carbon dioxide a green layer is formed that green layer is *
A. To),3 Boedeers3ees® copper carbonate

B. @oa)@ B»ed, copper chloride
C. ToB I,e3ee3® copper nitrate
D. @oa)@ 83,z copper oxide

12. DIeipedd 2.0 5638 SB0IDNTT T, ODBD. In an alloy

one of the constituent is mercury then it is called *
A. ex5ee)0 Amalgam

B. 23t edee® welding metal
C. evdabhgde amphoteric
D. damBeex electrolyte

13. DB03T 9D Ore of the mercury is *

A. HgO
B. HgS
C. ZnS
D. ZnO

14. 3e” D) STTD0T B €3, DI)edeedd 0w svaadeen. Identify one of

the uses of the alloy which is made from the constituents of lead and tin *
A. WS So3nYRY WJTodbew uses to weld electrical wire

DBBINY 303 to manufacture medals

B.
C. 374 ale evasdany Sodyed3 to manufacture surgical instruments
D. .. S;@nY Sared3abe to manufacture PVC pipes

15. @x¥Y escead 83, rﬁsédg( HDHEA. Identify the acidic oxides *

A. SO2,CO2
B. MgO, Ca0
C. Na20, K20
D. Fe203, Al203

16. 391 Bpt3 DT I Ao PRI wBTRBDNG. The following substance

is an allotropic form of which element *
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. Zaex* Carbon
. Jiednes® Nitrogen
. 833 Oxygen

. dOT* Silicon

17. 8%90 203Ny B MY, 83000V Jeas Srerduarh3riode BRTD)

JI20B).ZaTes. Food cans are coated with tin not by Zinc.The reason is *

A. BB 338,038 Thr3ed Zinc is more expensive than tin

B. 323 3013 Dotdh 333,038 ®ed) Melting point of Zinc is more than
tin

C. I3 3568603 ®ed) & odredewmaNT Zinc is more reactive than tin

D. 323 3303,03 38D adredewzaNd Zinc is less reactive than tin

18. QPINYY aroYHmd ©dres® Joodwany meae). Which one of the following

property is not belongs to ionic compounds *
A. BYI 30 A BBVoNYRY, @BeodT. High melting and boiling

point
. LB VeI werb@3. Dissolved in water

C. 093680 Swewd ) O VWBS. Conduct electricity
. 88D 30MHB DA DOVoDNRYY TeodS. Low melting and boiling
point
19. ©3 BYR SIS BoOWLS theex The most ductile metal is *

A. &3 gold

B. 239, silver

C. @)y copper

D. 3¢ Iron

20.5 3B IFH0D0T 3RBTT deedd ey This image shows the

property of the metals is *
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A. 833 ductility
B. @33 Malleability
C. @pYadwa e lustrous

D. magd sonorous
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@Q??SOSJ -4
SV DA VTT BSOS

Carbon and its compounds
1. 390X’ B3, @TeeN o 0l FopSed ead o7 (Bresdefoes® 203)

S e BIBROD YV FTSPD TBSODRY, HVOELDTTIWDES 39S The

property of carbon atom to form bond with atoms of carbon with the
help of covalent bond is called *
A. I3e0n3 Isomerism

B. 3t3e30¢e3 Catenation
C. @,;B0,ee2e80¢ Hydrogenation
D.

JozLR 0d adiition reaction

2. DAHFRD BT LBRIFD’ NPT BOWONIT0Z e TePd B9, NS ?

Identify the wrong statement related to saturated hydro carbon *
A. TRER® - B BTTTEVNY SRS HBW0RIDIST.Single bond

between two carbon atoms
. QBT Do WEVRRS) CNH2n+2 AT Its general formula is

CnH2n+2
. Q@R Baderm &R s’ 8NKS.0ne of the saturated

hydrocarbon
. Qegex’ TSI eN g adedewzzoNG. Methane is chemically

more reactive

3. 8,6 MY Do WEVIRT,

C.Hynu an2n+2

Option 1 Option 2
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anZn-Z anZn

Option 3 Option 4
4.8 JoawdBADS g adrerbowy Identify the functional group present in
this compound *

H HH o

L Ly
TR

H HH OH

A. deedeex® ketone

B. esedp,emoe Alcohol

C. 89z, Aldehyde

D. zowyeed O3° sz Carboxylic acid

Sodn3d TederiedmeNd. This is the
structural formula for the compound *

T
H—C—OH
A. o8~eef Ethanol

B. 3F~9e* Methanol
C. oBReedns® esa) Ethanoic acid
D. 3 eedhz® ) Methanoic acid

6.2YINYO Jpesedper’ 3 SuNeReS) aredord Which among the
following is Structural formula of propanone *
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I I
H H

Option 2

1]
I
H H

H
Option 3 Option 4

7.0 5o’ BOWENNHRY TR0 38, ex° Jjeedadh FodST BT
D) vewed Name and formula of the alkene compound having five
carbon atoms is *

A. @otden® C5H12 Pentane C5H12

B. @oedex® CSH10 Pentene C5H10
C. Joed;of C5H8 Pentyne C5H8
D.

Sotdemoer C5 H11-OH Pentanol C5 H11-OH

8.&1@6&3ea‘ dei’)md)d BReJ0e3* o33N The number of covalent bonds

present in Butane are *
A 4
B. 8
C. 10
D. 13

9.2YNYY TR T)eed FodwINTRY, NDAJ.Identify the compounds

which belongs to same homologous series. *
A. CH4,C2H6
B. CH4,C2H4
C. C2H2,C2H4
D. C4H10,C4H8

10. CH3-CH2-Br 8 Joainzad ®@xd Whati sthe name of this

compound *
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A. ¥pedee Degdes* Bromo methane
B. 2ip,edee Ss58ex® Bromo ethane

C. Wnedee Soedex® bromo Pentane
D. 23p,ecdee Fpeses® bromo propane

11.3;80e T3 e’ I wendezd) Molecular formula for Cyclo hexane is *

A. C6H6
B. C6H12
C. C3H6
D. C6H10

12.CH4 + Cl2 — CH3Cl + HCl @ ___ 3,03t evmemds059Na This

reaction is an example for *
A. JozoI g0dh Addition raecton

e333e3: 3,03 Substittution raection

B.
C. vuag =res 3od Oxidation reaction
D.

ox,0es8es &b Esterification

13.30eB8000 ©93e3etr 3 TooadhB eewed) The chemical formula for

sodium acetate is *
A. CH3COONa
B. CH3COOH
C. C2H50H
D. CH2CH20Na

14. SN FIrie e ©3000D0 JedIO svotdTIrDES TUSNW

While cleansing action of soaps in water they form a structure called *
A. IF 1Y miscells

B. o3 @ereaze0nd Oxidising agents
C. 88w Acids
D.

DS Bases

15. 6 BoWER’ BTEVMR 6 T;TR, RN BTV VNP TPOBTLT FodwS

Identify the compound having 6 carbon atoms and 6 hydrogen atoms *
A. 3 ex* Hexene

B. a’éﬁ)ea“ Hexane
C. masaiea‘ Butane
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D. 2Jo2e~® Benzene

16.23RYO ddroHcd éecﬁéa‘ it Voo @&, K0T Te¥dobe) Which one

of the statement is wrong related to ethyne *
A. C2H2e¢e0=e3) Molecular formula is C2H2

B. @@ @dverx saturated

C. Q0D T ITeEtWNY SBDS SRr03IT. Triple bond between

two carbon atoms
D. @t ¢j,,7° F)eedod Joadws This is an alkyne compound

17. 5 B9’ &Tveerisw, -CHO 3adorboxmsy @eoldha Soodws Identify

the compound having *
. Dotdexee* Pentanol

) ao’oaieméef Pentanal
. @oe3edned® Pentanone

. Doe3e3 ezt esd)m Penta

18.5206R° ©0aWINMW TS DFL TIBBNYINS.H8083 Carbon

compounds are poor condutors of electricity because *
. DRV D) IS Do 3B They have low melting and

boiling point

. 8BRF@e B3 B, FrwsmeN Attractive energy is not so strong

. Ae)3e @mmﬁvs& LoD SeBYDQ. They donot form any
ions

. ©0B0e3B WO B0y BB ¥IT. Intermolecular force is very
less

19.23nY0 S, NDYTY, D3R Identify the wrong one *
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odendowm)
Class of compounds Functional group
ese3.0,L T
Alcoho: -OH
e36) B,
Aldehyde -CHO

3¢t _CO

Ketone

FOWF 3,DT°
e,
Carboxylic acid

20. QRNYQ eI ssdex’ 3 ‘32656_5):93‘ b, BedSadreNd ? Which one of

the following is the electron dot structure of ethene ? *
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@méocb—S
DIAINY B3T3 DNeeSTE

Periodic classification of Elements
1."Z0bnY Aoba'BRY, AdRGITBD/Who proposed the law of triads *

A. 5933 /Mosley

B. Jnery0tf/Newland

C. Dorddexr /Mendeleev
D. deed;S0° /Dobereiner”

2. 083NY ADDY) B PoRIIIT Do) e odbeervad/Upto which

element the law of octaves was found to be applicable *
A. Bpeeees, /Cobalt

&5&2‘0&)0 /Calcium

B.
C. p3da0o/Potassium
D.

32" /0xygen

3.2100e BT3B Bt PR BB Tt MoB) Te0DT./ In the third

period of the periodic The element having smallest size is *

A. Na
B. Si
C. Cl
D. Ar

4.685)H08 8T3F Bpexd BODS MHoPYNY ( WFD SNENY) D) BT3eNY

o8/ The number of groups and periods in the modern periodic table

are *
A. 7 32331 ,9rhox)niw/7 periods,9 groups

B. 7 833eiw0 ,18 oy /7 periods,18 groups
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C. 9 833N, 7 noxxn/9 periods,7 groups
D. 18 es33¢nd, 7 roxnkd/18 periods,7 groups

5.3911 BRE D PRI Se, wefzy briv? Toal; Torie ©TT e,
5,cveN/Number of valence electrons and valency of the following

element is *

A 28
B. 2,6
C. 82
D. 6,2

6.5 TIEB BpeFTTO oW BT VDT VB, ToNTOS
DoAY BTJetw M3,y /If we move across the period in the modern

periodic table the size of the atom of the elements becomes *
A. w30RPBY /no changes

B. Seden ®39N So3T s@adrerb3d/first increases and then

decreases
C. @333 sincreases

D. 88cbarerb@d /decreases

7.2,8 ada@a‘ ci’)més dﬁ.& DRODIDI m@bdd& e3_3E éfaead 33 o

oY Secw)D./Where do you found this element in the periodic table

having electronic configuration 2,8 *
A. 16 Se no)/group-16

B. 2 Se now)/group-3
C. 83e rbowy)/group-8
D. 183¢ rboz)/group-18

8.Al+33 @tdz9~F I/ Electronic configuration of Al+3 is *
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A 28

B. 2,8,8,3
C. 283
D. 2,8,8

9.0,F.N o@ri¥Ry Soarecn 33 H08 Zmbrd wdadnas JOaed
5, /Which of the following gives the correct increasing order of the

atomic radii of O,F and N *
A. ON,F
B. OF,N
C. F,ON
D. N,F,0

10.03-00RdAodo svotdaremdsess ;of/ What type of oxide would Eka-

aluminium form ? *
A. EO3
B. E302
C. EO
D. E203

11.Na, Si,Cl,Mg,Al 8oL & Gen¥ theedeadrdesadx, R93 53O
TS BOWT T /Arrange the following elements in the order of

their decreasing metallic character *
A. Na>Al>Mg>CI>Si
B. CI> Si>Al>Mg>Na
C. Al>Na>Si>Ca>Mg
D. Na>Mg>Al>Si>Cl

12.&){33636 Bead N ool /Electro positivity elements means *
A. @U&ymm}d& ,e50T e/ Electron accceptors
B. ws@mﬁm& Qe BT PN/ Electron donors
C. De3eeadf nd /Metalloids

D. &3 od3 peddriwy/zero group elements

13.Q3R¥Y eroen qzejmya“ @dg( 3YDBERRS pody/Which of the

following elements would lose an electron easily ? *
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14." 0% ML uPhre SoEreen Sosdod BSSeeod
RS0RBeINK " The properties of the elements are the periodic

functions of their atomic number“This is *
A. 08B0 ] 8333 Beewd Jobad/Mendeleev's periodic law

B. dped,;80° S oy daba/Dobereiner’s law of triads
C. 858 833e3 Bpewss Nabadd/Modern periodic law
D. aifaasmasocsai 053N Jobe/Newlands law of octaves

15.68833¢3 Bty 330 aBO0T WOF, BOIToZ B desead3odw/how

does electronegativity changes If we move across the period of the
periodic table *

A. 230MPVL /no changes

B. 38xarerb@d /decreases
C. @333 sincreases

D. Seden ®39N Jo3T sBadyerb3d/first increases and then
decreases

16.20083¢ MHodrt Fedd poRY D3/ Identify the elements those

belongs to same group *

Sodium Oxygen Potassium Megnesium

A. 33 23°,3pe3adabo/0xygen,potassium
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B. &pezodado,ehNedado/Potassium,Magnesium

C. pe80do,3pe39d0do/Sodium,Potassium
D. Qeeado,esd x°/Sodium,0xygen

17. @rivd SOyed £es‘?8m}d& D3/ Identify the correct

statements *

BePLFTRYD

333 0T BRCWO3B 3BT Ndco
FR D O350 B T3/across the period metallic

property decreases

JINFBT IR BRCB03 [T Ne 3,
32F,N>3.t3/down the group atomic size increases

e3:33F T 0T BRCTWO 3 W3 ZCODH I
F LD 035edB T3/across the period electro

positivity decreases

BNFBP FLN BRCTOIB 90350 CFTeo I3,
TR 0323 T3/down the group ionization energy

decreases

DR BCPLFN YD IO NI/All statements are

correct

18. AB,C,D @@ E oo peaniwd 3heeN 2,3,7,10aa) 30
dddnmdoﬁécﬁ)d& BP0DI. AJINYY wotde B83Be3, [T
oo /Which of the given elements A, B, C, D and E with atomic

number 2,3,7, 10 and 30 respectively belong to the same period *
A.BDE
B.ADE
C.BCD
D. ABC

19. &,;WR LB BTV STDTED 323 (dBReDet30’ NwY)/ The atomic

radii of the hydrogen atom is(in picometer) *
A. 37pm
B. 16pm
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C.
D.

T1pm
Tpm

20.e333¢3 éfaead sdQ 2007 esdéséé emddbxbd mdmdzs meze ? What

is common for a period in the periodic table *
SedF ‘2965&966 %! Sosd; wode/Same number of valence

A.

electrons

. 20T BTITETW PoRNKW wore JIned, Jed33/In a period elements

belongs to same group

C. wode Josdod et /valency is same

. 2003 éoajzsoi) B3V /same number of shells
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eﬂc,m?sai) -6

Sea 3abrw

Life processes
1.859333 B)BobF) 00T AR, OR), 2390 WBDIRR,ST ? The rate of heart

beat in human beings is *

A. 62
B. 72
C. 82
D. 92

2. 33003 adyecs BeeEody 8RR Be3 I8, @ow’ Byeded. ? Identify the

chamber of the heart which pumps oxygenated blood *

3. Qs ByBHT TN FoBISTON TE) BT, WTN FOMITY
SBTS,

A. PN atreries
B. 09BN veins
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C. 383N valves

D. I3 pd septum

4. 353 831 BpO3 reITLD T9,TBRLINEN B0z’ e BBohT Beess

Heart of the chamber pumps blood to lungs for oxygenation is *
A. oB ®y3 6o Left atrium

B. v ®3 ¢ Right atrium
C. or 3,3 left ventricle
D. 2o &2 Right ventricle

5. HBFRINLT BoWORIToB e Bewd =9 NA.1dentify the wrong

statement which is related to arteries *
A. d§d§g( Se)doi)&od BeBTB DI vonndn éfaocifao:mgﬁ They carry

blood away from the heart to various organs of the body
. 03,0bSIFY DT, ©ornnPod Jomdd B)Bodhd, e SDHIS Arteries

collect the blood from different organs and bring it back to the heart
C. d%md,éém@és 2;’)@01)&5.3( @R0RJ. Arteries have thick,elastic walls

. BT TEY TVEY FoNwoN BB, The arteries devides smaller
and smaller vessels
6. @d)@& 202303 BoRVTB 3TEDBNS @™ne Double circulation is not found

in the following vertebrate group *
A. 33nd Birds

B. 8y Mammals
C. evdadeednkd Amphibians
D. Qesbnwd Fishess

7. BIITS Bewd Bt woney® odre)wd ? Name the organ system in human
body *
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. Bemoroniadp® digestive system

. Dozadeed 3 Fp® reproduction system

. ARVEI0NIRE® excretery system

D. 29,7v0oridR® respiratory system

8. 2T JeeDIB FeIBNYSY dert sdadwze3 The filtration units of the

kidneys are called *
A. 359 N nephrons

B. S0exf nwd neurons
C. Swede%¥ ureter
D. Swed&ee3 urinary bladder

9. VDI ITBE0NTREBBY A B C A D D3I yoniris’sy,

®x0&.identify the parts in human excretery system *

. ARw3303 B 313, dgurse me¥ C 2wd@eed D dwedmew A-kidney

B-urethra C-urinary bladder D-ureter
. A D308 B Sue3dney C Sweddeed D Swed) ITRrTe Jo¥ A- kidney

B- ureter C- urinary bladder D-urethra
. A 2308 B Re3Bee3 C Re3dme¥ D 213 d8Reme do¥ A-kidney

B- urinary bladder C-ureter D-urethra
. A Qw3 Eee3 B Swedmed C 21e3)doB D Sued) dXRET Je% A- urinary

bladder B- ureter C- kidney D- urethra
10. DHDz0Y S doBNY Swa Seake The kidneys in human beings are a

part of the system for *

. g pu |

A. Zpemss nutrition
B. evd0e¢e3 respiration

C. Q3RS excretion
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D. <emeedd transportation

11.0883) @) nen @03 Sreda 833 &e38 The constituent of the blood which

helps to clott the blood is *
A. =99, plasma

B. o) 0zze Red blood cells
C. 0¥ Tz36 white blood cell
D. 333 R platelets

12. mPrt 308 I3 27enn9od b SRBTO Aed) I TNDIT,
o SD. The loss of water in the form of vapour from the aerial parts of the

plant is known as *
A. 0o ITWES transpiration

B. ©d)3 SoFews photosynthesis

C. 3 00339 translocation

D. )30 38 osmotic pressure

13. Toreedd o) B3 TogNY DES,B weB)30WT Significant role of stomata in

transportation in plants is to *
A. e IFITI, )ADIYT create upward pressure

B. Zo0edf @y 6838 ;i o &edh)w absorb carbon dioxide
C. 832 DDNE YD release oxygen
D. Q8033 230 TR eI perform transpiration continuously

14. IJNYY B ;0 wesnedd The xylem in plants are responsible for *
A. QedI Tereedd transport of water
B. e8®%o00 coreedd transport of food
C. e Ree 8a)NY Temeedd transport of amino acids

D. &3 2" Temeedd transport of oxygen

15. DRTRE, FowodToZ ez ®ePd Bw9,NA. Identify the wrong statement

related to lymph *
A. TNJRY) BRedeedToYnYY ®0an3d. Lymph drains into lymphatic

capillaries
. @) Fp)eedeDNYRY, TeoldT. It has more proteins

C. et 298 DA FDP0T HeTV)E3 B R TeNWIST.Lymph carries
digested and absorbed fat from intestine
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D. @e380e30 BRONDS ¥h3 B Swede S, SHoP 388, 0TI
o33. drains excess fluid from extra cellular space back into the

blood
16. D333 TedT 3 Fpd Tame¥ The largest blood vessel in human body

. DIBIRBDN Aorta

. RD,IB WBP pulmonary artery
. 33ReI0 A coronary artery

. o0y PTIA superior vena cava

17. s8per@03 BoISS Beads 383 w348 Blood pressure of healthy person
is *

A. 120/80 mm.hg

B. 80/120 mm.hg

C. 130/90 mm.hg
D. 90/130 mm.hg

18. @RI B3 wBISY, Wb yumadeeNDS wvasdes Identify the

instrument used to measure the rate of heart beat *

6%\)&)66306 Oximeter
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I deecdn,ec Stethoscope mMdeecee3o® Glucomete

19. 30F0TIODLE SFor* Mwd S TV DS =R’ Soang

Sy The nitrogen waste removed by the nephrons in the human kidneys

is *
A. dwedad Urea
B. eﬂd)édrae esa)m Amino acids
C. @éxaea‘ Glucose

D. o36nd Salts

20. IFMD TYRNYY, BT Howd Ipe Identify the technique uesd by the
plants to get rid of waste materials *
A. ONYO T BWBEMR Sordenwammd,wd) suhd meerb3s. Waste

material may be stored in leaves,that fall of

B. dFeameN @vad 3,08 NYY Sy SWIBFN To¥ DI otdny

deadY Jondmerv3el. Waste products are stored as resins and
gums,especially in old xylem

. IR 3D, DIOT DeIIO Bt B0 TYRBHNYY,
JTBeD33.Plants also excrete some waste substances into the soil

around them
D. 8 edI oee all the above
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Aaho3n DR BTN,

Control and Co ordination
1. 29RO LeeBaiond Axers rjo® Which of the following endocrine

glands is unpaired ? *
A. 8 Adrenal

B. 39)589 Testes
C. Qex)e30 Pituitary

D. eowezad Ovary

2. AT J;0N3 8 ©FENIT ToTeaeres Hocdeeex* The hormone which

is responsible for secondary sexual characters in males is *
A. 8530 ),ewx* Estrogen

B. dﬁ@de&ma‘ Testosterone
C. @dg\,ei’)a‘ Insulin
D. Y33 doeeex® growth hormone

3.2 evotzordYych Dwarfism results due to *

. §3003 & B3N 3o &)d8dbod Excess secretion of

thyroxine
. ¥PTeIT ToBeer IR BBDD )dBA0T Less secretion of growth

hormone
. OBROR TR eer AR BBD F)dBod

. B33 Do eer AR 93abd R)dBAos Excess secretion of
growth hormone
4.2YnYO odroYmd o3z Sababe Which of the following is not an

involuntary action ? *
A. Do0380arhHlxy)d Vomiting

B. W33 Salivation
C. Sadoi) 283 Heart beat
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D. esRcdwzy)cdh Chewing

5.90GotNP BBEM DTINTEED IVBNY WP 0e30d IRDI3EIN

VD385 0eNG. The growth of pollen tubes towards ovules is an

example for *
A. 209333 Hydrotropism

B. 0000 To3Bex Chemotropism
C. ndzy,ha3eS Geotropism
D. @3 b3S Phototropism

- X' 0T HADIIDS oriady, 0D Name the gland marked as "x' *

A. z;jéoaci’bae no® Thyroid
B. &&:e nod Adrenal
C. Sy=es Testes

D. Jeesd Pituitary

7. 30e33 IDBee0S ¥rdod dobod T, B33, Posture and balance of

the body is controlled by *
A. Dmede, Cerebrum

B. @babdx, Cerebellum
C. e Medulla

D. ma: Pons
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8. §;003 X Todeeed* 1t FowofdToZ BYNIINYY Swe B 98 The

incorrect statement related to thyroxine hormone among the following
is*
A. 2 B S Walrezdad 30dhabr JabodHB3 it regulates fat

metabolism
B. 233 3003003 Nn¥nod dreen evot3ord3d its deficiency leads to

goiter
C. A 5905, CoT roRHM0T JBadyerd3A it is secreted by

parathyroid gland
D. 85330 9030eB3° *BT eV BT eméémﬁd iodine in the

food is essential for its production.

9. mﬁﬁ%’d& HDH3ED.Name the parts of the brain *

. A-DTIDAR, B-2DHee C-mox’, D-udabdes, A - cerebrum B-
Medulla C- Pons D-Cerebellum

. AT, B-DAE, C-Ddee D-wexf, A - cerebrum B-
Crebellum C- Medulla D-Pons

. DB, B -mox, C-Hdeg D-eodbade, A - cerebrum B- Pons
C- Medulla D-Cerebellum

. A-0RAR, B- Do, C- e D- Dmeahda, A - Cerebellum B-
Pons C- Medulla D-cerebrum

10.005083 Todeee S ToTeRBIT 9030edR* Qﬂﬁééc:)d ? lodine is necessary

for the synthesis of which hormone *
A. &IOS

B. §;003 = Thyroxine
C. 83 3° Auxin
D. @) Ox° Insulin
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11.85 33)adbexxk3od3 This diagram indicates *

. DO Woxd Reflex arc
. 3 DI3ES photo tropism
) méo?a‘ neuron

. DT, cerebrum

12.00 I88pe3MY ( FR007° MY) SWIS WoSTSIY, &erford 3CwBSIT.

A small gap between two neurons is called *
A. I, ( SoJrie) Synapse

B. @od,t5* Dendrite
C. 853 3° Axon

D. Stedert Impulse

13.3¢03, Ridd/aa@aj) @d)m}dg wYreolT Central nervous system

includes *
A. DY, LD ¥, Brain ,spinalcord

B. 1w w9, DHdere spinal cord , medulla

C. oAds, , o, cerebellum, pons

D. 2@, , oD, cerebrum , cerebellum

148003363 ol AT, onnyRy, wdaina $0wred g Which is the

correct sequence of the components of a reflex arc ? *
A. MyBBNR -9, 0dn-oRmed ITBReB-30ocedb STBREB-DDW WL,

Receptors-->MusclesoSensory neuronoMotor neuronoSpinal cord
B. my@aniwd) - odemed SCBeB-DWDR WG -WoSDed STBReS-

<9 adwReceptorso Motor neurono Spinal corde Sensory neuron
Muscles
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C. My@BNL -DWDR W%, -oSDed STERB -Godoced S03ee3-

<900 Receptors ¢ Spinal cord oSensory neuron o Motor neuron

oMuscle
. MYBINR -szmao STEee3 - DWW WY, -&dremed ITBReED -

<9adv Receptors ¢ Sensory neuron¢ Spinal cord oMotor neuron
oMuscle
15. @ B030d Hecdeers™ Emergency hormone is *
A. 8ROF
B. 28 Adrenal
C. e37dred 0" Testosterone
D. @) Ox° Insulin

16. S 330 A ) B riwh H:3=), R3S ? In this diagram A & B

shows *

. AGR DDT,RATSBEST B — abed rHdhSo,A33eS A-positevely

geotropism B - negatively geotropism
. A-308 HDTI,RTBER B — B3 rhdhzg,I3eS A-negatively

geotropism B - positevely geotropism
C. 3 vDI3S Phototropism

D. 9333 Hydrotropism

17. ﬁﬁéﬁ%}c‘)ﬂ éraeﬁcf)ajzsﬁoi)ag VBeBDS Toweerx* The hormone which

promotes cell division in plants is *
A. 833" Auxin

B. 82%06 O NY Gibberellins
C. J;e0e8,Ax° riwy Cytokinins
D. 8:92:()02)256 esdg Abscicic acid

18.23%3: 381 S008 J¥dwzyyxd The movement of shoot towards light
is*
A. DDZ,RISeS Geotropism
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B. 2e9a33¢S Hydrotropism
C. Dm0 T3eS Chemotropism
D. d)3 o3S¢S Phototropism

19.3080e3 (JR,007° ) B IWmedenined B SOyed averie

Electrical impulse travels in a neuron from *
. BoT, e - 859 °- ICDD - Beedzaad Dendrite - axon - axonal end

— cellbody
. BBYRF - IODY - Bpedzooh- Bod,e axon - axonal end - cellbody

— dendrite
. BoB,E5 - Bpe3zaad) - 83 - ST Dendrite - cellbody - axon -

axonal end
. SODY - 859 - Beedzead - Bod,e axonal end - axon -

cellbody — dendrite
20.2DDHOI 03,03 Begwed et The largest part of the brain is *
A. Dxexbde, Cerebrum
B. &abde, Cerebellum
C. @ Pons
D. @9 Medulla

SSLC - agem m8Bme0 2020-21




6:9@?25050—8
e Tert VoTaRe3 3 IBTS?

How do organisms reproduce?
1. @eagN Semerm@arha @IS 23on/The part of the flower modified into

fruit is *
A. 3e33/Anther

e90Ge30d/Ovary

B.
C. Bwezany/Stigma
D.

0N=¥Y3/Pollen tube

2. @YiiHY oY NMod Soedeed 33R&T weriadw / Which of the

follwoing is not the part of the male reproductive system? *
A. deadexey/Vas deferens

B. ®o@~e%/Fallopian tube
C. Sy=ea/Testis
D. 3 /Penis

3. B)60x) Sodbadh TBT Swew)d TpemiohD), BB JTERTT BOMe03/

The embryo gets nutrition from the mothers blood with the help of a
special tissue called *

A. oa3od/0vary
B. &o@~e% /fallopian tune
C. 20000v/Placenta
D. ndeBdeed/Uterus

. ©800N ®BRIIY dezw / Unisexual flowers consists *
A. 3eB0 BUed Fye3) o3BG /only stigma
B. cvexdcdh @) / None of these
C. 3e0 9D BUes o3BG /anther or carpels
D. 3ex0 203 o IT/only anthers

5. By@NYY v abyerhas Hedeeex* /The hormone produced in the
testisis *
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A. éexifaye%a‘/estrogen
B. &p)25],09x°/progesteron
C. ax) Oxf/insulin

D. daifacgecﬁg,oaac/testosteron

6.2MPY ddreddd J;0Ns deeriade)/Which of the following is not a

sexually transmitted disease *
A. e3edare/gonorrehea

B. ejedadyo/Malaria
C. o /AIDS
D. 3Ox°/syphillis

7.Q3n¥Q &,03° Aod w33 Jeeri/Identify the disease not caused by

the virus *
A. RT0ond edS rn/ warts

B. 32O /syphillis
C. o /AIDS
D. &pdrexo/Corona

8.@eI Nod Jozexieea 3ad ¢yori/Male parts of the flower *
A. ool /ovary
B. 3ed/anther
C. 3ed/stigma
D. @1 3% /petals

9. 1IR3 ey Sozeteed 3ob yeri/Female parts of the flower *
A. 3eed/stigma
B. @oeni/pollen grain
C. 33 I93/style
D.

e90T3 30l /ovary

10.8RAN B Wondy) SN, B8BAEQ BONR,BE Gah SEodew Jwaad
SR3BE/
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11.Q7e8338 S033 DedNwoN @ B@orhad @RS Jon / The part of the

flower modified into seeds after fertilization is *
A. eomagod/ovary

e90mw3/0vule

B.
C. @oani/pollen grain
D. drexdcd @& / None of these

12. Bey JoFoeed 3 DY) INYY, w¥riwold/Female reproductive

system includes *
A. ©90TB%,deadeNed,Ne3cBeed,oedad)/fallopian tube,vas

deferens,uterus,testis,ovary
B. ©0B30%¥,deadeod,dymes,omezad/ fallopian tube,vas

deferens,testis,ovary
C. ©90B~e%,080ex),n3cBeed,0we3ad / fallopian

tube,vegina,uterus,ovary
D. ©0BFe%,dead %, needeed, e e rod / fallopian tube,vas

deferens,uterus,ovary

13. SoITS Mo JoTodeed 3BT i, 3L / Identify the

parts in male reproductive system *
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A. A-deadee¥ B- Bpedees® nod C-adwed oo D- Sy&e / A-seminal
vesicle B-prostate gland C- ureter D- scrotum
. A-DpZ DY B-33p)es e r)00 C- DB dTReme Jo¥ D-dymes / A-
Ureter B-prostate gland C — urethra D- testis
. A1) ITRE T D% B- Fpjecees® nod C-Jeabemed D- Symes / A-
Urethra B-prostate gland C- seminal vesicle D — testis
. A-Qdeade e B- Spjeciees rod C-dwegmev D- Sywes / A-seminal
vesicle B-prostate gland C- ureter D- Testis
14. @eyN BFodE RIS ont D) ITYT 2IevaN SFodnes DeRdd eyon
3o / Part of the flower that develops into fruit and part of the seed

that develops into root respectively are *
A. ©0Te3adh DR P So0@ / ovary and plumule

B. 332 3008 @) @3 Adwew / plumule and radicle
C. ©»0ze30dh DA P Jwew / ovary and radicle
D.

©0TeBAd DR ot / ovary and ovule

15. BRAVRDT BT, D) WS J0Todee3 3 JRENYORTLR B0 W

woe IO Yot/ Name of the organ which is found both in

reproductive systems of flowering plants as well as in humans? *
A. 395 398 /Pollen tube

B. eowezad/Ovary
C. 3ex33/Anther
D. Qeade~es/Vas deferens
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16. &§,0N3 JozzEDOT MIFpesnab ST IPeInvedey ? /What

are thedifferent methods of contraception *
A. 3G aDod Sped JeohERIY BFD WoBRIYS, 3T HVOLD

DI . /Interrupting thesperm or ovary through surgery.)
B. S0d 5me om0 -£3 0w SBWoDRY, Merdeeddp v FedYH
/Insertion of a barriercalled wonky or copper T into the uterus
C. 8 ov3p /All of these
D. TocdeerNYR TSRO IDS e0od)nvs) Srich
B/ Taking pills that imbalance hormones

17. Mo Jozedeed 30d 83 onnw aemmas& WOJITeN TN
DB BT pewert @ﬁéémdd@ﬁ?@( )T VH0LBTB8S/ The

parts in the human reproductive system help to secrete substances,
which are essential for the transport and nourishment of sperm *
A. Speees® nod 9@ /Only prostrate gland

B. Jdeadbedeedd ) Ipedees rod / Seminal vesicle & prostrate

gland)
C. deddhrmeP & QeadeBpedd / Vas deferens & seminal vesicle

D. Jeads Do D) IpeI et nod /vas deferens & prostrate gland

18. Jeadyored DB) WOTIEVNW Bodeen B®EODT J0BT VOEIID T3S
/The structure formed after fusion of male and female gamete is the *
A. adone 7 Zygote
B. Sozexdeed & / Reproduction
C. Soddeert / fusion
D. AZedS / Fertilization

19. 8 43338, JowoRAToZ adred ®ePS BOAWeNS/ Which of the
following statement is correct regarding the diagram given below *
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Bevl Roardeead

. QD &dei’)oﬁ —-’@ao / bisexual flower
. 200 BRI BeBTBODS BTeNTeED 9T BRI BLIoSIYS,

Snerasre)3d / transfer of pollen grain from anther to stigma

of the same flower
C. 8 @RI J,3e0d B0, B 308 IBawI33 / self pollination

process can be takes place
D. o9 TePBNW J0eNI / All statements are correct

20. 0033 3OIrie Y DwIn,nels Beeda wIPTOWD DD V) T3 D)
dperad Crad® @edwda B30d / If egg is not fertiled the inner wall

of the uterus breaks which causes bleeding through vegina .This
process is called *
A. Qzeds / fertilization

B. 5oaria’3°25€ / Pollination

C. déoﬁs 68(36 / Sexual maturation
D. sb@yeds / Menstruation
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T0deadd D) Ve AT

HEREDITY AND EVOLUTION
1. 208 ABFE, HHSRY, AahodE eRyE0BeadBad BRoFEBBRY

Soerﬁ)ddd)/ A unit of heredity that determines particular trait is called
A. BORF o/DNA
B. Rex3B30e3/Cell
C. B03Zo&NKR/Genes
D. 830° Ox° ©/RNA
. 30T Zo00hO0T MHENW B,V TNMIFTHBMRRND JPIRB,

Boeﬁﬁ.g(dd)/The process of transmission of characters from parents to offspring is
called

A. BOR o &,2,3e50¢69/DNA Replication
B. &3 0T3¢ /Mutation
C. ®DI0deah3/Heredity
D. Jnesdes/Transfer
3. 20T AVET, VFEB, ToORITOZB I TTW TR TRTNYD, SpedDT
éﬁéﬁ%}d& 0,003 )08/ Crossing the two plants which having two

different contrasting character for same trait is called.
A. OB 3YB0CE/Mono hybrid cross

B. §,39e33¢9/Di hybrid croos
C. DZB¥es0es/Mixed hybrid cross
D. @Qé/Variations
. F1 3900 3 Te39,N BBe3reR)e med/The character which predominates and
is clearly seen in F1 generation is said to be.
A. 83e09NT /Acquired.
B. RFODeBR)/Recessive
C. @@mdd&)}/Variation
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D. @u0meBw)/Dominant.
. D oBTB (TT) e3oed NBSBY, B NG (1) e3ee3 NBTR 0BT FosOITr

F2 B90HO G 930 DR DG NG 2esee3 NENW BBIZPNT DTS/

When pure tall (TT) pea plant is crossed with pure dwarf (tt) pea plant. The ratio of
pure tall plants to dwarf plant in F2 generation is.

A. 1:2

B. 2:2

C. 1.3

D. 3:1

. AYNPY B0 Ted BN FOTE HVTIBTE LY,

3€Q./Identify the correct pair of analogous organs among the following.

A. d)d)?’aéd d.noﬁé 533_.2 E'J’ﬁwoi) DO/ The fore limbs of man and the

fore limbs of frog
. @03, @) wo3Oad T3, /The wings of bird and the wings of bat
. Q0D TWOreeD D) B3 ad SO /The fore limbs of lizard and the
fore limbs of frog
. 5)@)3’&63 d)oori’é 533.)_5 BRB0D SWOoreeD/The fore limbs of man and
the fore limbs of Horse
7. B0LE 003 B8N CedR 23ed 23ed SN orindrt eri) ST/ The
organs which are differ in structure but performing the same function are called as
A. B30T 90nnR)/Homologous Organs
B. Zo009e TR €90/ Analogous organs
C. 3WR)D ©onnK/Cloned Organs
D. D3 oe)Fp/All the above.
8. 20 DMV Don AT/ The Sex of a baby is determined by
A. 320000/ The Mother
B. PIcR00T 00T J0B0&NnLo3/The genes from ancestors
C. 3oBAoB/The Father
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D. )3 QIR Rod/From all the above
9. Ei)c‘d)ﬁasd 8853@88?’1%362 BORDVDD BEIFI0ANY ﬁo&%/The total number of

Chromosomes present in the cells of Man is
A. 24 BR3B/24 Pairs
B. 32 2303/32 Pairs
C. 23 3/23 Pairs
D. 13 2303 /13 Pairs

10. BT BRIFT VN, T[N SoTE/The formation of new species is
generally due to
A. DODID BN LOT 203 @Q@ﬁ@od/Accumulation of variations
over several generation
- Bedady .00 BTeBBT DIROD BTe33,
B3O BO0T /Movement of individuals from one place to another
. B30T 3T WBTISHNP0TW/Sudden changes in nature
. 9 ;0N8 IPIRDOT BVOEIINHT STWR,TMP0T/ Clones formed during
asexual reproduction.
. WITTR Ve ITIRT DOWOFNTRY, BSHI D WHS WeBV) BT
c:)mﬁ/which of the following technique is not used to study human evolution.
A. VB 3/Excavation
B. 2% WPBNKR)/Fossils
C. J0BODJH)R/Hybridization
D. 8 O & TRV /DNA Sequencing

. 2D BT &CDQOSCS B350 BINY @pIc/According to theory of

evolution the birds are originated from.
A. 20e3TL0/Reptiles

B. e /Fishes
C. V30T /Amphibians
D. RN /Mamals
. T9,23905N BOTZTL) €3, ey eﬂdz‘eam}d& Boeﬁdg(dd)/Naturaly

preserved remains of pre-historic organisms are called as
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. Y BVLBNK) /Fossils
. ZOLIEDTRD oMM /Analogous Organs
. GRIovond) TR ¢90onrikd/Homologous Organs
. eI DOZ/All the above.
. BYPBNY 80D od AFEOT B8 PoRTIY WYDSIT/The element
used to estimate the age of fossils is
A. Bo3/Phosphorous
B. 0%33/Sulphur
C. RReB0do/Sodium
D. B9’/ Carbon
. 8B 3@%@3)(3 DB oD/ The father of modern genetics is
A. D9, £3¢°/ Aristotle
B. 2398 € 39"/ Charles Darwin
& Nrieed® Sower/John Gregor Mendal
D. &3 e3°F 2% dex’/Albert Einstein
. %3@6568@5 29T OB/ The ratio of Dihybrid cross experiment is.

. 9:3:3:1

A
B. 1:3:3:9
C

. 3:3:1:9
D. 3:1
. FoR) QTBREANOT DBFVINTT 30Z90/The vegetable which is not
developed from wild cabbage is
A. id8eexb/Kale
B. 2)e&3* Tt3/Beetroot
. W9)Beed/Broccoli

. Q38D /Cabbage

SSLC - agem m8Bme0 2020-21




(a)Wing of Bird

19. BedNY 2,00 W33, FSWBTY) SOTTT BTEF WBUITBNLOT YT
B0BToHNMYPY T OWIEBNPLTIE GVOLIINET WTLITIDHNDT aoeﬁaig(ad)/ A

random change in the gene pool of a small population is called as
A. 2R3edeaTea/Speciation

B. &9Zodeod &Qﬁ&/Genetic drift
C. d3Ned 30k, /Natural selection
D. VI BPETVIB/Migration
20.20qe* B, TjadeennOmeN o), SreBdeod ﬁﬁé/The plant Mendal
selected for his experiments is
A. TR ﬁﬁé/Rose plant

. EIEI éﬁé/Pea plant

B
C. T BEIS ﬁﬁé/Apple plant
D

. TP Ve>3 ﬁﬁé /Beans plant
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@m5®—1 0
B, BEPUD DA 3333

Light, Reflection and Refraction

1. WD 2,0 amc%&fbod @d@(ocb dm%éé 3ODN 3@( B)006T
6865.3( WTTIADRIBT. B c‘.’)zjzsdmﬁ Aoy ?When light travels from

one medium to another medium i changes its velocity This
phenomenon is called *

A. 83933 3,830 Reflection of light
B. X3%33 %e03 Absorption of light

C. 8333 =333 Refraction of light
D. 233 23S Scattering of light

2. DIPTIT md)c%?cj S | &33593 S.1 unit of power of lens is *
A. 800H0° Ampere
B. @adyez30° Diopter
C. mpoox* Coulomb
D. &&* ohm

3.8 3, This formula is *

A. BB eI mirror formula
B. 23e03 Jed) Lens formula
C. DTRTB TR SoWeoBaNT I3,

D. Sge3od <ed) magnification

4.8 S dabah SoorBed Y Snell’s law related to *
A. B33 3333 light refraction
B. @3%¥33 5330 light reflection
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C. 33 B3I scattering of light
D. 23933 %ed3 light absorption

5. Qv B¥a ARIBIY NOFSNBO YODIS ? In which of the

following medium the velocity of light is maximum *
A. Moy glass

B. et water
C. 3%, diamond

D. ded aﬁﬁ kerosene

6. dDe3TY 3¥S Jert The velocity of light in vacuum is *
3 x 10°ms2
3% 10%ms 1
- 3x10°ms™?
3 x 10°ms™1
7. RRRTT o€ -2.5D 83T 3T Jorted @ed oy, ? find the focal

length of a lens of power -2.5D. *
A. -2.5m
B. -0.40m
C.-2.0m
D. -2.25m

8.0d5033 &g aNT Bwewd WY SeriweN BOLII In which medium light

travels more *
JR), Deg;ed [P RIS IRwW;0F

Material medium Refractive index

mY 1.0003
oz, 1.31
ADCHT, 1.44

Sy

A. 3% 7 2.42 diamond -2.42
B. me® ~ 1.0003 air - 1.0003
C. Sozonidd 7 1.31 Ice - 1.31
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D. &edsea§ / 1.44 kerosene -1.44

9. JonTWR3 o33 What is Focal length ? *

. DITRTT BHoS TN DA B)3° FeFNY SBDIS @Wed The

distance b/w principal focus of the lens and the optical center
. DIPTT FHosS Jonad DR BY3305 3 SIS @edThe distance

b/w principal focus of the lens and the aperture
. IZBe Beor) D) By BegnY ISBDAS B3 The distance b/w

center of curvature and the optical centre
. BB39 Be0T) DA W3Togd IDAS BpdThe distance b/w center
of curvature and the aperture
10. &eR DJRTHOT FSMIB)T 3o BE0IeBIBT SHTS)Y
QrSesend 9 Where should be object placed to obtained an image

from the convex lens as same size of the object *
A. ©3033e33Y at infinity

B. 2F1 Nod @edd® beyond 2F1
C. 2F1 39 at 2F1
D. F1aba) 2F1 iY &b between F1 and 2F1

11. @YnYY I3 eed Identify the correct pair *
A. u- 3,80ow3 BT u- distance of the image
B. v- SRIR @eT v- distance of the object

C. f- ¥p9x Soriad Principal focus

D. R- bxed3 S5z03% Radius of curvature

12. 33 306930 Me® ALoB Mo W Babh Swewd Tl Teewan
BVOEINT 3T U3 B3 BYNT03T. Ao 33, IOAT ?The path of a ray of

light coming from air passing through a rectangular glass slab are
shown as A,B, C and D in below Figure Which one ofthem is correct? *
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13.Qe03Q) 2o 38: BLWNIDS B & 3oNT0Z FeedRe SoTes A pencil

partially immersed in water ,it looks displaces ...the reason for this is *

/ —

A. 83933 3,330 light reflection
B. 3¥3s %e03 light absorption

C. B3R 3333 light refraction
D. &3%3: 3D AB scattering of light

14.035weriew D5 D) JeB &3DowB, eVoLd wedS DT A lens

which always formed a virtual and erect image is *
A. 2eS 2R3 Convex lens

B. 330 e Dxed Plano -convex lens

C. &’)d_}( @3R3 concave lens
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D. Ih3w =), ST plano concave lens

15.2003) Hex RTB d@m%aﬁa@ 50cm 3N, BT T3 mabc%&'

=
o)

. +2D
. -2D
. -4D
. +4D
16.88 6&&)3233;)6 BT @éei’)oaod 0N, 3DV md;) PIAT0

@

@30T I3, 3¥. With the help of this ray diagram mention

the position of the image,size of the image and nature of the image *

M

N

| EO00 D T poston of
Thes irrage

sEEoagdy, 0 |
AL Imfinity

Option 1

.HMHdﬂﬂmﬂﬂmﬂ'
LR LS T T

212 Pl claccid)
Bepcnd IFE

Option 2
RO O e podtion of
Tha e

Tl
A I3

Option 3
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RO o mE podtion of 2 A s el
She Irrage Fwiuse =f 1he image

e ety =ird
&L irfirety Vietual and erect

Option 4
17.2008) A=), SDTRTT Sonabadedsy 30cm sNB.HRRTLOT &S0
20cm BRTBO $V0E3IL) TRBY, STPTHOT oI, BRTHO wrez 7A

concave lens has focal length 15cm.At what distance should the object
from the lens be placed so that it forms an image at 20cm from the
lens ? *

A. -12cm

B. 12cm

C. -60cm

D. 60cm

18.2,00) STTT BFZody 20cm SNZT,BT Soriehwed o=, ? A lens

has radius of curvature 20cm.what is its focal length ? *
A. 10cm
B. 20cm
C. 5cm
D. 40cm

19.203008 FeoBDoWSY Q0D 580wz93. The centre of

lens is called-
A. 3530 Beoq, Centre of curvature

B. &3 3eog, Optical centre
C. RT3 3 Lens axis
D. Sonad Do Principle focus

20. 2i¥0 DHRRTB SIPFSabY, sotDeBaina JeB) idyeddd ? Which

one of the follwing formula is used to find the magnification of the lens
? *

1 1 1

f v u

Option 1
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Option 3 Option 4
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0d-12
J)233 / Electricity

1.8 FToBSBY, BYTW BT BB dWeBen WY TGS /The

device used to increasing or decreasing electric current is *
A. Fpees eeo® Voltmeter

B. eﬂcmgaso“ Ammeter
C. aoifaemdas‘ Rheostat

D. méegdairae&)easo‘ Galvanometer

. Bredd S. | &39S The S.1. Unit of Resistance is *
A. &3¥ Ohm
B. &3 Qeesc® Ohm meter
C. ge30° Ammeter
D. Spees, eeso® Voltmeter
3.8¥NI Ao WIS IWT ToaTF BomdeBabey wFDYBY which

of the following formula is not using to calculate electric power ? *
A. P=w/t
B. P=V2/R
C. P=VI
D. P=IR

4. 2,00 Beerd3 engdﬁg( 3 dwen deerdd) /If the length of the resistor

inreases the resistance become *
A. ©3933 Increases

B. 38aderb@d decreases
C. 28wargdde) No changes
D. 3pd ayerd3d becomes zero

5. ABY8,0BVTY 239,L300bRY, P vuged The battery is used in a

circuit to *
A. QB Dem BOSY, wodew measure the rate of flow of current

B. deerdadxy wdvedden changes to resistance
C. IIe08T8~Y, wmeodw To attain voltage
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D. ©30e30d 33 @eorew to attain uniform volt

6. ci)a_bag( ai)’ae)asrw dred @PoDDI 3 dfaechrﬁQJd& 3363 BHTD
LeeBATaN JYNY wed), TeedY) If different values of resistance of

the 3 resistors are connected in a series manner,the total effective
resistance of the circuit is *
A. 8&)&0%603 8&’)3@ minimum than minima

B. &{’)c—’g minimum
C. rﬁ@d@éséoé ﬁ@a’g maximum than maxima

D. ﬁ@a’g maximum

7. DY, da’aozsmf Bpeg BRoODE 3 Feeddnvs, Jare08T Bhrd
RBeeBATn BYNY wed), Teerdy) If different values of resistance

of the 3 resistors are connected in a parallel manner,the total effective
resistance of the circuit is *
A. 308 minimum

B. 8&)&08&03 8&’)30 minimum than minima
C. ﬁ@a’g maximum

D. rﬂ@éoz%éoé riao—’g maximum than maxima

8. 200 To®3W deedsy) 27 O 8NB.T, Swed JbeyerinweN 330

J70038TeN BeelAToN T3 2, Teedd A conductor is having

the resistance of 27Q.If it cut into three equal parts and then connected
them in a parallel manner ,the total effective resistance is

(A) 6Q

(B) 3Q

(C) 9Q

(D) 27Q

9. BV VRS B AL B WS HVTZTET, SADYDL). One of
the following electric appliances does not obey heating effect of *

(A)  Pp* fuse

(B) ef bulb

(C) I @ Bt electric iron box

(D) JdPexdeeste refrigerator
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10. 8 ¥3)0) 3PN arexd Aabahd, e odoerhad. The diagram is

applicable to which rule *
v -

-

(A) 3908 Qobadh Faraday law

(B) a3 Sobad Ohms law

(C) XPuR svRRes Bue Aabad Heating effect of Joules law
(D) worty ®2)3% abad Right hand thumb rule

11. 12V 23550033 8R0S OB Doy SWS 2C e8a3e3nR0 30dmen
S8BT 3w How much work is done in moving a charge of 2C across

two ponts having a potential difference 12V ? *
(A) 24U
(B) 6J
(C) 14J
(D) 10J

12. 9@ Fwomd S. | @393 S.1 Unit of electric current is *
(A) es0d0ho* Ampere
(B) 3pwoxw* Coulomb
(C) &&* Ohm
(D) &aF eesc® Ohm meter

13. Bee3R) 9BL0DIDI 9031 factors on which resistance of the

conductor depends are *
(A) @e®3d wug Onits length(l)
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(B) o®33 ©33e0d On its cross sectional area (A)
(C) ©o®3x @93)33 rvea On the nature of the material

(D) —o®33 e Temperature
(E) edI owdpe All the above

14. c‘.’)d)zsa‘ Z.)U; N 3030 O3 dmd%d}dd.The filament of an electric

bulb is made up of *
(A) oo 3od Aluminium wire

(B) @)@ Sod Copper wire
(C) esorf & Bo8 Tungsten wire

(D) e So8 Fuse wire

15. CReEBNYSY 363 ZDTO eelATT *

[ 23230030 23¢0 23¢3 0o NTI3 T3.

Voltage is different in every parts of the circuit

BOONIW AT;3* 2,0T3¢ D€3 983 T3

Current is same in every parts of the circuit

2300330 2,0T3¢ D8 RT3 3.

Voltage is same in every parts of the circuit

BOODIT T3 23¢8 23¢8 0 NTIZ T

Current is different in every parts of the circuit

BRYNTE). IDOJOE BCDIRLH

The correct statements are

(A 1&1

(B) 1&lll
©) &IV
(D) 1&IV

16.W)me3eBNY BT BODHY 0t BIIWS TIBBT MDY

o@D The property of the conductor which resist the flow of charges

is called
(A) W& Ne3w5e033 Electric volt

(B) esodeado® Ampere
(C) dwed Resisatance
(D) Ady=* B3 Electricity
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17.20Q @63 40 Teeg TRV TR FeBBNPIY, 6V S e, Beed8,
BReBAT.TIMBT,0BOTY T3V IWS Be® o), ? Two

resistors having the resistance 20Q and 4Q respectively are connected
to 6V battery. calculate the total current flowing in the circuit *

(A) 24A

(B) 0.25A

(C) 25A

(D) 2.4A

18. & evaadeeN JWR,0BVTY G S030hRY, eelb Fb The

way of connecting electrical fuse in a domestic circuit is *
(A) =363 series

(B) e03T Beerds parallel
(C) o3& 1t both
(D) SIad BRIt

19. c‘.’)d)asas md)z;jzssd Swee & S.I Unit of electric power is *
(A) 259 Joule
(B) =oe3” Watt

(C) &= Ohm
(D) Ipeesf Volt

20.7)z0v8 I DHoBOBO IS LVBBTENTIY BVBdeeNTE
3008 e The correct way of using electrical appliances in

domestic electric circuit is *
(A) DS BTN ¥, ITe3abhO FomdebIwd Connecting

electrical appliances in series
(B) 880W <ocbhg e TS euBBTET, SA BT @)om3 SHoBVTO

eua03eeNDI)T. using an electrical appliance of 880 W power

in 5A electric circuit
(C) dnsozs —-’c,yaéédg( ch)zSaG VRBTEINLPN V003V DN VOBIE Y.

Connecting main fuse to electrical appliances in parallel
2KW Toabg e B B) S suRBTHRTD, SA WS Bons

0BT evaodeeNPHT. using an electrical appliance of 2
KW power in 5A electric circuit
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50d-13
QBB TOBE Foo3eadh BOFITNLY
Magnetic effects of Electric current

1.33333255 &d)asa‘ LEIVT® ﬁ%’@m @cﬁé&d zo%}c—-\bd)ae)m / Commercial electric

motors do not use

A

. QWY 003 eherdo’ ¥y SHLAWLST / an electromagnet to

rotate the armature

. DB T DB DDVALRY, DBNDSBT / a soft iron core on

which the coil is wound

. D9B3 T0033) 8eerd0’ Y SHNDIT / a permanent magnet

to rotate the armature

. A DDDD DBBTY 83 BYS $0aj0dH DR DRANPDHIS

/ effectively the large number of turns of conducting wire in the

current carrying coil

2. QRYNYY Swe B TePS oY ? / Choose the incorrect statement

IR BBIDEDS BB DI 503FZeST By, 3Vaben wo i,
B23,0¥ QDT evBekeeNTrd3T. / the right hand thumb

rule is used to find the direction of magnetic field due to current
carrying conductors

. 03T 2.8 ART = B3, F& 1/50 FB0BT WTBRMHSHIT /

India the AC changes direction after every 1/50 second

. F¢3 AR ,Bakrerad ARBMe DT BRva BIRS0TT, Fea

AT 0T B3SO BODBT.BaIerod TS FS SoeSHDY
33 08,3 BB / the difference between the direct and

alternating currents is that the direct current always flows in one
direction but the alternating current reversed its direction
periodically

. Be03B I BT BB, 3Pabey FDoNS Ty QLIS

WYDE9T./Fleming's right hand rule is a sample rule to know the
direction of induced current

3. W03 VT BV @aerod BT Bwend esy3odw,/ The

frequency of the AC current in India is
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A. 50 Hz
B. 75 Hz
C. 100 Hz
D. 25 Hz

4. c‘.’)d)zsa‘ DOBOT DTFISMN WFDB TS / The Safety device used in

an electrical circuit is
A. ea&’bgaso‘ / Ammeter

B. ag’/azsm‘ / Fuse
C. dadwee T3 / Rheostat
D. &5 / Switch

5. cZ)CSJZSa‘ Seee30:Q) OB OxBenwoN oo dBedDE &yert / The parts in

the motor which acts as a commutator are
A. eszdes3o® / Armature

B. ®023nx / Brushes
C. 303w / Magnets
D. 283 evorbonyy / Split rings

6. VDS amd@obeg Sﬁd &865& WTODD c‘.’)d)zsa‘ / The current which

changes its direction in equal intervals of time is
A. SdbATY & / Static current

B. @adecad ci)d)asa‘ / Alternative current
C. Rfedcf)ci)as & / Direct current
D. oo ©e / None of these

. 03e3 3o8ad J33. 7/ The potential of a live wire is

A. 5V
B. 220V
C.1V

D. K'iradd / Zero
. BBeS 303ad maéoi)aosg / The colour of live wire is
A. zoegci)eﬁ)’ / Colourless
B. 8@2) / Black
C. ®dD / Green
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D. So®) / Red

9.7e3 TUBBBO IS FBHLITIN 50333 YRy, FAVWE Joha /

The rule which indicates the magnetic field in a current carrying
straight conductor is
A. worty 33 8% dadbad / Right hand thumb rule

B. gons oBdriy Aabed / Fleming's Left —hand rule
C. Fors worty dabad / Fleming's right —hand rule
D.

F\ira@ o / Screw rule

10.83 038, AdeedBDod Food,3 36 (esm@ -360)Q) BeoBZeDowaN VBT,
B0ereoB3.6n s033e38,3 D), / A positively charged particle (alpha-

particle) projected towards west is deflected towards north by a
magnetic field.The direction of magnetic field is
A. 3363 sBNDHIT /

B. @033 3BNDHST / towards- west
C. Seew, 2meNDHB83 / upward
D. 3¥3dwazmeNdH3d 7 downward

11. MBY300 WS B DoBwB Bodod Saegey / The energy

capacity of the domestic circuit wiringis ____
A. 25A
B. 15A
C.5A
D. 50 A

12. 2oe3e ﬁafaé?aa‘ N 55&01)(5@ daodod@ms J)d)zsa‘ / The Current in the

circuit during a short circuitis____
A. 3830359NDH3T 7/ Low

B. el e / None of these
C. 33933 / High
D. d0zNDST / Stable

13. AV TyToBB, GVTY DV WHDS TIBIDIY, deriID / The

device used for producing electric current ia called a
A. B ¥J5 / generator
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B. @&1)55303 / ammeter
C. mye),Rpecetso’ / galvanometer
D. Jpee390° / motor

14.3B, 0B (Dot3’s JEREEF ) D) wI0° eheed JoT IW)
USBTENY), TS DTZS9 Fba3owS / The most important safety

method for protecting home appliances from short circuit or
overloading is by ..............
A. 308 3 Joaaerp YYD /Earthing

B. J0¢J,T0° MY WHDIHD /
C. —-c,sfaascu—‘ VIR /
D. ch)zSa‘ QLEIT® WLAIRD /

15. 2390300 JZexs 308 D) B BodMY NJwe03T /In India the

potential difference between live wire and neutral wire is ..................
A. 240V
B. 250V
C. 220V
D. 280V

16. ¢dp So8f Sodabh TS 2 / The insulation colour of earth wire
A. @A / green
B. 3) / black
C. Qed / blue
D. 3o / red

17. 3&3§ 3030 33 / The potential of a neutral wire is

A. 440V
B. 100V
C. 220V
D.0V

18. JpJoady¥ IO Boo3Bed Q) VTV 003 FeFwo3ode ST /

magnetic field in the solenoid is as same in the magnetic field of
A. 9% 203 / horse shoe magnet

B. <08 3203 / magnetic needle
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C. 8 oo / all of these
D. Bo@z003 / bar magnet
19. DoBLT ci)ci)a@ﬁ emaggéojoai& B3 B WIDS TBS / The

device used detect the presence electric current in the circuit | s-—— *
A. BRI / generator

B. 3»ee390° / motor

C. _"cgje)zsc\*f / fuse

D. my0),pecdeesc® / galvanometer

20. 0372088 B3abRY, BT BZaLTYN BOB3DS TS / The device

which converts mechanical energy into electrical energy is
A. B e’ / electric meter

B. @d;J3ee / dynamo
C. ad)?sa‘ eee390° / electric motor

D. ©0dc9,03 / magnet
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T3S 14

BEodh ST

The Sources of Energy

. 233007 @OT w0 nyee / One of the properties of biogas

A. 93T o BFI3 B, /  Its heating capacity is high
B. e0DAToN 220N, euYRI3E / Leaves residue like ash
C. 933 DR B33 0do3S / It burns with smoke
D. 9333 T B3 Tovad / Its heating capacity is low

2. PTVBF0* & W D3, 4T TFR),, WO, W), WPDTIZ9,8.0F0T3,9Td

/ The inner wall of the solar cooker is painted black because this

A BITI, JdPDIen  / reflects light
B. 32, MR, 3330, GCDFRL, / absorbs more heat
C. 30, WANRPT, 3BNE,L / prevents from rusting
D. B¥ITETONT I, TCORTORED / converges solar radiations

3.9 ¥, 0PHT) 03D YOPIT ©Feee), / Which of the following

is not a

characteristics of a good energy source
A.e9T3) )8 33T TD300Ed CITIe00 TIje3sT0dN €98 BeD,, TOR
300323¢®./Does a
large amount of work per unit volume or mass

B.RY®2Ie0N 3B 03023¢w /easily available
C.ROFN JONBA) aNI), NI A3se00n23¢3 / Easy to store
and transport
D.3352300 0300 N3L3CB / Expensive

4.233007T 9OT eIV §¥é3F / The main component of biogas

A.eXCG3E° / Methane
B. To0ER® Ty €37,4C3° / Carbon dioxide
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C.3;BR%°* / Hydrogen

5.830) DS RIDHoDTF, ToU0DNIE 520 BT, 39N / The part of the
solar

cooker that causes the green house effect
A. BERABRPR PODST TR, 209, / Black colour painted into the box
B. V¥ Fy3ROTT,N WFADTW T3,8 / A mirror used for light

reflection

. BT, TN WFAE MRS o1 / Glass board used as a lid

6.93¢ TR BOIT DI J3.0 B /The least polluting source of energy

A.SSs8L0 33, / Nuclear energy
B.o0aR,, JT3053° JB, / Thermal power energy
C.A°T I3, / Solar energy

D.23ene3e e, 338, / Geothermal energy
7. 0DOIZNL 0T ATWIs3° NI, WIN IRT, 03 NP oD 3¢ / Optimal

wind speed for power generation from wind mills
A.58..90¢ /1o /5 km/hr
B.10 3.eJ2¢ /1O /10 km/hr
C.15 3.ed3¢ /IO /15km/hr
D. 35 3.eJ2¢ /o /35km/hr
8.2300D DD eV, FRART JINY 903D e / The ultimate source

of forms of energy on the earth

A3 7 Water

B.R0ODE / Sun
C.OTEDOINO 7 Uranium

D.ZBFHONPT QOIS /Fossil fuel
9.83R0DFIS), VRBINBoonI Mo &)ei0e0ts 3311 Fo00wand 303

/ The process of the enormous amount of energy released in the sun
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A. BRADEFIAS ) BT BB80 /The combustion process of coal in

the sun
B. OVR,, 23;23T ITWFS 30 /Thermal nuclear fission reaction
C. 233 303 /Decomposition reaction

D. o0& 23R T ReddO™ 303 / Thermal nuclear fusion reaction
10.5°0FRCINY DI §?é3F / Main component of solar cell

A. ToE®* / Carbon
B.2®To~* / Silicon
C. 393y / Copper
D.23,0Tox* / Boron
11. ZPTBZ.0DI), ATW3° F30D™e, N VDI RIS TOGIS / Which of the

following device converts solar energy into electrical energy
A. A°T 981 2,€3 / Solar cooker
B.A2T Bad / Solar furnace
C.A°T0 &©30RTF / Solar water heater
D.APTweC3 / Solar cell
12.00&R,, ATWI;3° T, RNONF'E) YR QOGS / Fuel used in thermal power

plant

A. AC3y / water
B.0303B¢AODO / Uranium
C.2%4e)T T0d / Bio mass
D.Z3) 3. / Coal

13.7oN0NRY 0T I3, I, W0 IFPN) / Types of energy production from oceans

A.002), 038 a3, 93N 33 / Tidal energy and wave energy

B.o02),C 338, 03, 23;28T 3B, / Tidal energy and Nuclear energy

C.OBNY 3B DI, 3;23T 38, / Wave energy and Nuclear energy

D.moN3 R, J3, 23, Va3~ JF, / Ocean thermal energy and wind energy)
14.9%9 0T ONTF 3.0 tDRONY R, WY TR N30T . /The
need to use non-conventional sources of energy

A.2SR0s AR, LE 3T O / To prevent population explosion)
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B.9M20&00 AT 3303 TEee1 / For the protection of non-conventional

energy)
C.330D 7,83, TOTTF, / To the solution of the energy crisis)

D.3Z0OD T30, RyR,A) / To create an energy crisis)
15.8¢30 I one3 330 3390 / Source of non-renewable energy

A. 203 / Wood

B. A®T33 / Solar energy

C. BPABNPT YOS / Fossil fue

D. B33 3, / Wind energy
16. APV RO IR TR, WAACTR), KWODH ) odiesven WFRIFHD, /A

solar water heater cannot be used to get hot water on
A 22DT DI / a sunny day
B. BRCBTIE DS/ a cloudy day
C. ABOD DI /ahot day

D. 230me¥od DS / a windy day
17. 83 P NI ZHNF ) 03307 34edT TWje3;00d0 e3TTH,

N TIBIBODH ), /Which

of the following is not an example of a bio-mass energy source
AP / Wood

B. I/@€00® €9J© / Gobar gas
C. 3058603 B8 / Nuclear energy
D. T / Coal
18. 8323, ne'R), 3VINT ) B¢V N SR NET BB DPO[N,

NIO3RCNTNT AT toneT / Which of the following power plant directly

used natural source of energy to rotate turbines

A. R, dT3053° A9, 33 / Thermal power plant

B. 2@edT3053°* Me,e3T / hydro electric power plant

C. BT ITVs3® Mo 23C  / Nuclear power plant

D. A3 )T3053° me,e33 / Solar power plant
19. YN, 0350 B> BOI TR £200350NT3 / which of the following is eco-
friendly power plant

A. SO, eIT3053° A0 e3C / Thermal power plant
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B. 25®eJT305000M@T / hydro electric power plant
C. 233edT I A 3T / Bio gas plant
D. ®WT30€ T3, M9,e30 / Nuclear power plant

20. BAV) DS IOHONT, TV 00T 90 / The gas which causes

greenhouse effect
A. TOVER® 3T, 4T / Carbon monoxide
B. Sgé3en® t8;0300T, 4T3° /Nitrogen dioxide
C. A 0° B8;03507,4C3 / Sulphur dioxide
D. TOVE® B30T, 4T / carbon dioxide
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2638 153 16

S, DOVT, F;0NFB DODRRLNY T ADEDE/

Our Environment, Management of Natural

Resources
1. LR EDITODS BRVIBE BTBTEDNY K’)o&%/ The number of

Oxygen atoms present in an Ozone molecule.
A) 2
B) 3
C) 4
D) 1
. Liyeen® S X033, Twey 9T/ Depletion of ozone is due to

A) BRIER’ Byored 4iF/Carbon monoxide
B) egdex’/Methane
C) Bredregpedpesex’ /Chlorofluorocarbons
D) 3ee3n933M%)/Pesticides.
. BRADFAOT DT 38 Tad), BWBTB 83JeTY STLNL0T VOIS

2089 /High energy ultraviolet rays emitted by the sun are responsible for

increased incidence of
A) Bmer0l3S/Colour blindness

B) 9,03e33 B9;™ 0°/Lung cancer
C) B3 SodbeIriwy/Heart diseases
D) 23=ET S9I 0°/Skin cancer
. QU QT B0eTB B0BINH 0,05, BB YT NYRY, SOOI
851 30l ©HB0TWT. /It is mandatory to produce CFC free refrigerators by all
Fridge manufacturers, because
A) o0 dme.‘)ézsddg( 3doben/To prevent air pollution.
B) 3%) aed= B, Sadben/To reduce noise pollution.
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C) ,05".Q VAVNY B)eeB), SBDT9B/To reduce the CFC

gases
D) XS &) eveBaabhIIerden/To save the electricity.

5. 8 YN BIBO 5,8 Jgreadalyordad SRS MSeA./Identify the bio-

degradable substance in the following.

6. 23R DINYY Sodhod BHTHORTY BBEI BoRDADZI TS, FoTea/ The
reason for finding traces of DDT in the Mother's breast milk in recent days is.
A) LBwer’ BWVTW J9B/0zone depletion
B) ®AD S B0/ Greenhouse effects
C) @0l dm@éﬁs/mr pollution
D) 23408 RoTLE /Biomagnification
. LR STV TS BB ) DIOTWRTT Z/The step

you should follow to prevent the Ozone from depletion.
A) DoBINY MO ¥3/Increased usage of vehicles

B) 3,mo0ea3€9/ Industrialisation

C) Q,05°.4 Jw3 Be3Z0NY &)%380.’1)5.2( V3eBDIJT/ Encourage the usage

of CFC free freezers and coolers.
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D) 3¢3520N% 23%3803.)5‘33( VBeBDZTW /Encourage the usage of freezers and
coolers.

: oaasm@ﬁd 85 TR Te D) BN, Vedrs? FoTZeodw =0T
PoES &ngéa‘aﬁcf/These Tribal community of Rajasthan believed that
protection of Forest and wildlife is sacred for them.

A) 25953 /Jadhav

B) 239¢3°/Jat

C) A&Redd/Bhishnoi
D) Togees®/Rathod

. 23530, 80TBREVTY) ST R’Cg?/The Chipko movement has taken place in.
A) Oaam—)a@dd ¢$,20%/Jaipur of Rajasthan
B) 3m0fe3dd e e/ Mysuru of Karnataka
C) d)mm%d NoNn@3/Nagpur of Maharashtra
D) eV33 BT3B S, e/ Tehri-Garhwal of Uttar Pradesh

10. )3 Becd Dalgedd S, BeadF e Sy el 33T /Amrita Devi

Bishnoi sacrificed her life in the cause of protection of

A) 83exd) T /Khejri trees

B) ©9&F 0N /Sal trees

C) 8t X @enesen/Alpine meadows
D) 3enodd TN /Sandalwood trees

11.27903 IS9€TQ) 5525 %ec) FOTBHBMN QLRSS @B/ The award given by
Govt Of India for conservation of wildlife is.
A) @o0@ToN BNG B3R/ Panduranga hegade award

B) <epe ©9¢3,0° BBA/ Medha Patkar award

)
)

C) DOTT® o) WBMME ©,BA)/Sunder Lal Bahuguna award
)

D eﬂd)g)é 3eq) ?f)dfsageo‘b é_ﬂﬁé/ Amrita Devi Bishnoi award
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12.1DR00F B ST IO SIS FTer0* ITpEST WKNSIS ST
Eﬁ%%n"i)o“é)dﬁ& QB IBTW 3BV /The protest movement organized against
raising the height of the Sardar Sarovar Dam on the river Narmada in Gujrat is.
A) 33308 e80TeR/Chipko Movement
B) S0 WIocyee 3003 /Narmada Bachavo Movement
C) morTe 3Iocyee 30T /Ganga Bachavo Movement
D) NPT 22F0cye 3030 /Gujrath bachavo Movement

13.80007° DR FeOT® M0 YUSI DedTBeead PSS Borrdd
03?5 /The Khadins and Nadis traditional water harvesting system exists in
A

c\_)c)mﬁ/rajasthan

B ﬁjmmw /Maharashtra

) 09
)

C) ®BW, ) SodgT/Jammu and Kashmir
)

D) B wﬁﬁ?S/Madhyapradesh
14.3700¢ 3830 S0RVDS Q0B ed) B01W I3/ The traditional water
harvesting system found in Karnataka is.
A) 2390T90M %R /Bandharas
B) ©%0° 2@ &;3%/Ahars and Pynes
C) RTBonix/Surangams
D) 5&%?’1%/Kattas
15.Q¢0 ToTZHEDY ey RDTOS a3/ The practice to be followed to

conserve water is

B) Bed, eORy WedT TR, BONYRY LYRIRR/Developing plant breeds that
consume less water

C) Bepzzen IV D) BOWH DR, /leaving the tap water to flow
while brushing.

D) ¥ BT Bk TP /Rain water harvesting
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16.3596° @ds%ﬁ%i) BORDVDI T2/ The Sal forests are found in.
A) 0g3,i3e2*/Andhra Pradesh

B) 39ore38/Karnataka

)
)

C) abc%@dez‘/Madhyapradesh
)

D) @30 ome¥/West Bengal
17,233 B33NY AeHn) hiTeSeses 56)‘&’6 Q0T3
A) 23018 —-’cg)ﬁdmé}oi)@( 3 ReezarhHST. /Rehabilitation on large scale

should be under taken.

B) )& TyToeB0 ToDEVAB BEID), IN03eNTRIeSHSBT. /Involves
investment of huge amount of public money.

C) W@ FHoed TEY, T3 D) Ve SyIFSaD FoBwerbSBE. /Causes

deforestation and loss of biodiversity on large scale.
D) e dFp/All the above.

18.85 BYNIZYNPY odrecs rHoRned 25,8 IFEII wemordad SN
D93, wEP0BT? /which of the following groups contains only biodegradable
items?

A) BEIS AT, Bes® DR) Me’d)/Fruit peels, cake and glass
B) @ew, B3B3 R) o)/ Grass, DDT and flowers

C) Bez*, DT @) TeY/Cake, wood and grass.

D) e, Bes® @) @S/ Grass, cake and plastics.

19.580%3 &b &I oBT/ The environmental friendly act is.

A) DINYY B30ed IFNNYSY WHPDFD. /Using LED bulbs in homes

B) 006D m@rﬁ'cﬁoé& WIIT 30033 m&dﬁd& WBDIR). /Using
private vehicle more rather than public transport.

C) @B SIINY NOT ¥S./Using plastic wares at maximum extent.

D) VDS DR) detdpessTEriPeN SoBIOT HTNTI)

BRVIHD./ Cutting down trees in the forest for firewood and furniture’s.
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20.8D) DI BOToB, TOTEHIDITW D)BVBDTW I/ The principal greenhouse
gas is.

A) S edRR° ;088 T/ Nitrogen di oxide

B) ) 0° @, €83 ;TF/Sulpher di oxide.

C) Soex’ dé eqéac/Carbon di oxide.

D) So¢x° &y9m93 ;T /Carbon monoxide.
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